o
[N

<0 > (rad)
o
o [
[ [¢)]

..........

.............

QT T

-2

-1

0 1 2 3
TP n (PCA to beamline)

< o cot(y) >
o
=
a1

.......

.......

......

......

.........

w

0 1 2 3
TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__CMSSW_ckfnocut2_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mknocut2_RECO

100

< 00, > (M)

[¢V LALAN RARAN RARAN AL

-1

0 1 2 3
TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N O

Ratio

|
QO[T

S il il
S | R
b T 1 I
] : 1) i ]
-2 -1 0 1 2 3

TP n (PCA- to beamline)

..........

RatioI
P
a1

[T

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


